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Unit Goal: By the end of this unit, you will be able to solve trig equations and prove trig identities.

Chapter 4/5 Part 2 Outline

. . . Curriculum
Section Subject Learning Goals .
Expectations
. - recognize equivalent trig expressions by using angles in a right triangle
L1 Transformation and by performing transformations B3.1
Identities yp J )
L2 Compount Angles - un.derstand development of compou.nd angle formulas and use them B3.2
to find exact expressions for non-special angles
13 Double Angle - use compound ar?gle formulas tq derive double angle formulas B33
- use formulas to simplify expressions
L4 Proving Trig Identities :“Izli able to prove identities using identities learned throughout the B33
Solve Linear Trig - Find all solutions to a linear trig equation
L5 . B3.4
Equations
Solve Trig Equations - Find all solutions to a trig equation involving a double angle
L5 . B3.4
with Double Angles
L5 Solve Quadratic Trig - Find all solutions to a quadratic trig equation B3.4
Equations )
L5 Applications of Trig - Solve problems arising from real world applications involving trig B2.7
Equations equations '
Assessments F/A/O Ministry Code P/O/C KTAC
Note Completion A P
Practice Worksheet Completion F/A P
Quiz — Solving Trig Equations F P
PreTest Review F/A P
Test — Trig Identities and 0 B3.1,3.2,3.3,3.4 p K(21%), T(34%), A(10%),
Equations B2.7 C(34%)
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Part 1: Remembering How to Prove Trig Identities

Fundamental Trigonometric Identities

Quotient Identities

Pythagorean Identities

Reciprocal Identities
0 1
csc O =
sin @
sec O =
os 0
to 1
cot @ =
tan 6

sine_t 0
cose "
cos O
- = coté@
sin @

sin?0 + cos? 0 =1

Tips and Tricks

Reciprocal Identities Quotient Identities Pythagorean Identities
Square both sides Square both sides Rearrange the identity
2g=_1 in? 6 sin%@ = 1 — cos?0
csc™ 0 = ag ST _ tan? e
cos? 6@
1 cos?0 = 1 —sin%6
sec? 0 = — 7
cos cos? 0 5 Divide by either sin? 8 or sin? @
— = cot“ 0
) 1 sin? 0
cot® 6 = ran? 0 1+ cot?0 = csc? 0
tan?0 + 1 = sec?6
General tips for proving identities:
i) Separate into LS and RS. Terms may NOT cross between sides.
i) Try to change everything to sin 6 or cos 6
iii) If you have two fractions being added or subtracted, find a common denominator and
combine the fractions.
iv) Use difference of squares > 1 — sin? 8 = (1 — sin 8)(1 + sin 9)

)] Use the power rule = sin © 6 = (sin? 9)3




Example 1: Prove each of the following identities

a)tan®?x + 1 = sec?x LS
2 B 3
- ‘ﬁa/\ Sy K commal = ec X
- derom
at g A 2 _ f %
“Jsinx | s =
_— — s«
s K @S X
_ SNt os
_— /_’_/_,//\J
oS x /P.i,
_ { ¢
s
LS=RS
b) cos?x = (1 — sinx)(1 + sinx
) ( )( ) LS RS
2
- )DOS
&
= "%t\r\lx
Y Pr
- cos'x
LS=RS
sin? x
C) 1—cosx - 1 +Cosx ﬁ &
- /ﬁJ = [+cosx
| -cosk o1
- |-cosK ¢
Pt
Llws% 7 Dos
\o

\766%

- (+Qosﬂc

LS=RS



Part 2: Transformation Identities

Because of their periodic nature, there are many equivalent trigonometric expressions .

Horizontal translations of%that involve both a sine function and a cosine function can be used to obtain two

equivalent functions with the same graph.

zz\y
Translating the cosine function gto the right, f(x) = cos (x — g) y=sin® y = cos 6
results in the graph of the sine function, f(x) = sinx.
Similarly, translating the sine function gto the left, f(x) = sin (x + g) m m
results in the graph of the cosine function, f(x) = cos x.
—2
W
Transformation Identities
Vi3 . . i
cos (x—;) = sinx sin (x+5) = COS X

Part 3: Even/Odd Function Identities y

Remember that cos x is an even function. Reflecting its graph across the y-axis
results in two equivalent functions with the same graph.

2_

y = cos (—9)] y=cosl

N/

’/inn %_]0_ W 27 \

_2,
v
o4 y=tanfl y=tan(-f])
: . =sin 6 = sin (6
sin x and tan x are both odd functions. They have ABNNNL sin (~0) il
rotational symmetry about the origin. /m \
5] y =—sinfl ;

sin (—#) = —sin#

y=—tanf

tan (—#) = —tan @

Even/0Odd Identities

cos(—x) = cosx sin(—x) = —sinx tan(—x) = —tanx




Part 4: Co-function Identities

The co-function identities describe trigonometric relationships between
complementary angles in a right triangle.

Co-Function Identities

T .
COS (E - X) = Sinx

. s
Sin (E— X) = COS X

We could identify other equivalent trigonometric expressions by comparing principle angles drawn in standard
position in quadrants Il, lll, and IV with their related acute (reference) angle in quadrant I.

Principle in Quadrant Il Principle in Quadrant Il

sin(r + x) = —sinx

Principle in Quadrant IV

sin(2m — x) = —sinx

sin(m — x) = sinx

Example 2: Prove both co-function identities using transformation identities

Y . . Vi
a) cos (5_ x) =sinx b) sin (E - x) = Ccosx

LS RS LS RS
- Ccos (“/g - 7@) - <inX = s’lq(wfl—’)(.) = cos X lm"
. = (-%)
- COS(’/)C*\\/,l) cos j‘f”[
gc\c*'ﬁﬁ . 4
o d ! = sin(-x +"A)
- cOS[~(%"VQ] o
)even - sin(Ma- %)
Y <
- Cos (%” /1>
T.T _
- LnX v LS=RS

LS=RS



Part 5: Apply the Identities

Example 3: Given that sing = (0.5878, use equivalent trigonometric expressions to evaluate the following:

3
a) cos —
yeos T b) cosi—g
] (n 37‘[) .
=Ssin|\—-—-— T T
2 10 = sin <§ — E)
) (Sn 37T> . ;
=Ssin|\——— T T
10 10 = sin <1_O — E)
(i) z
=Ssin|\-— A
10 = sin <— E)
i VA
- s (E) = —sin (g)
= (0.5878

= —(0.5878
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Compound angle: an angle that is created by adding or subtracting two or more angles.

Part 1: Proof of cos(x — y)

Normal algebra rules do not apply:

cos(x —y) # coSX — cOSy

So what does cos(x — y) =?

Using the diagram below, label all angles and sides:

Cos (u+¢)

Sf/\ SI'I\B

R}; 2S02D

sin(xty)

gsLD?C\qs

cos(x +y) = cosxcosy —sinxsiny

sin(x + y) = sinxcosy + cosxsiny




Part 2: Proofs of other compound angle formulas Even/Odd Properties

cos(—x) = cosx sin(—x) = —sinx
Example 1: Prove cos(x — y) = cosx cosy + sinx siny
LS RS
= cos(x —y) = cosxcosy + sinxsiny
= cos[x + (—y)]
= cos x cos(—y) — sinx sin(—y)
= cosx cosy — sinx (—siny)
= cosxcosy + sinxsiny
LS =RS
Example 2:
a) Prove sin(x — y) = sinx cosy — cos x siny
LS RS
= sin(x — y) = sinx cosy — cosx siny

= sin x cos(—y) + cos x sin(—y)
= sinx cosy + cosx (—siny)

=sinxcosy —cosxsiny

LS =RS



Compound Angle Formulas

sin(x +y) = sinxcosy + cos xsiny
sin(x —y) =sinxcosy —cos xsiny
cos(x +y) = cosxcosy —sinxsiny

cos(x —y) = cosxcosy + sinxsiny

tanx + tany
tan(x +y) = 1

—tanxtany

tanx —tany

t. —_ =
an(x =) 1+tanxtany

Part 3: Determine Exact Trig Ratios for Angles other than Special Angles

By expressing an angle as a sum or difference of angles in the special triangles,
exact values of other angles can be determined.

Example 3: Use compound angle formulas to determine exact values for

a) sinln—2 b) tan (_ i_;r)
m _ <4n 371) fan (_%) s (%T)
SINN—=SIN|\——7=———
12 12 12 ()
= sin (g —_ g) _ tan (%) + tan@—g)

1—tan G—g) tan (51)—7;)

= sin (g) cos (g) — cos (g) sin (g) _n (3)+tan(3)

(o)

Il
~ (S
N
Sl
N——"

|
/N
N | =
N——"
oy
Gl
N——"
@l=
+

=

&
T
Sl

N
2
N
2
=
+
b )

it
Sl

_V3-1
=5

-
+
Py

o

7

"
2 @

i



Part 4: Use Compound Angle Formulas to Simplify Trig Expressions

Example 4: Simplify the following expression

7T 57'L'+ ~7m 5w
coslzcos12 smlzsm12

_ <7n 5n)
TS \12 T 12

_ 2T
= cos 7

Part 5: Application

Example 5: Evaluate sin(a + b), where a and b are both angles in the second quadrant; given sina = %and

. 5
sinb = —
13

Start by drawing both terminal arms in the second quadrant and solving for the third side.

sin(a + b) =sinacosb + cosasinb S A S A
STEAN . < N\3
65+ SEn —
= |- —— |+ | —= —_— | N
5 13 5/\13 x=4 x=1)
36 20
" 65 65 T
T C «
_ 26 R Keste (3
65 ’)L:B =5 7(zr‘w
g :lé x 20
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Part 1: Proofs of Double Angle Formulas

Example 1: Prove sin(2x) = 2 sinx cos x

LS RS
= sin(2x) = 2sinx cosx
= sin(x + x)
= sinx cosx + cos x sinx

= 2sinxcosx

LS =RS

Example 2: Prove cos(2x) = cos? x — sin? x

LS RS
= cos(2x) = cos? x — sin®x
= cos(x + x)
= COS X COS X — Sinx sinx

= cos? x — sin’x

LS =RS

Note: There are alternate versions of cos 2x where either cos? x OR sin? x are changed using the
Pythagorean Identity.



Double Angle Formulas

sin(2x) = 2sinx cos x
cos(2x) = cos? x — sin? x
cos(2x) = 2cos?x — 1
cos(2x) =1 — 2sin®x

2tanx
tan(2x) = T tanZ x

Part 2: Use Double Angle Formulas to Simplify Expressions

Example 1: Simplify each of the following expressions and then evaluate

. T s
a) 2sin-cos—
8 8

_tan2™
1-tan®Z

—an[2(2)]

/3




Part 3: Determine the Value of Trig Ratios for a Double Angle

If you know one of the primary trig ratios for any angle, then you can determine the other two. You can then
determine the primary trig ratios for this angle doubled.

Example 2: If cos 8 = — g andg < 8 < m, determine the value of cos(20) and sin(26)

We can solve for cos(260) without finding the sine ratio if we use the following version of the double angle
formula:

cos(260) = 2cos? 6 — 1

2

cos(26) = 2 (— g) -1

4
cos(20) = 2 (—) -1

9

8 9

cos(26) = 5”9
1
20) = —=
cos(260) 5

Now to find sin(260):

T C
o?'“j °3 sin(30) = AsinOcosO
52 - 2(3)(°F)

7

cos(20) = —gand sin(20) = —49£



Example 3: If tan 8 = — % and 32_17: < 0 < 2m, determine the value of cos(20).

We are given that the terminal arm of the angle lies in quadrant 4:

S A cos(28)= oS @ -sin'6
- [\ ’_E;l
/—\ L} [5) [5)
P p -6 7
3 25 25
F:S {
T c <L
© 35
3y 7
2c cos(a@): 25
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Using your sheet of all identities learned this unit, prove each of the following:

sin(2x) = tanx

14+cos(2x) LS

| +cos (3x)

Example 1: Prove

- Sin ()
PR

v dos™x - |
- AsnX oSk

}Z cos’x

- SInX
-~ SINA

s

Example 2: Prove cos (g + x) = —sinx

LS

cosS (ﬂb/z *X)

1)

Cos (“;1) CosA —S In(“Z‘)) sinA

= O (¢osx) — | sinx

- -sinX

[<=RS

- - sinX

RS
= tanX

- SinX
s X

(SRS



Example 3: Prove csc(2x) =

CsCXx

2cosx

LS RS
z s8¢ (Ax) - (SCX
- l 2cosx
- ——-"—_—’
sin(ax) I
| = CscX Jcosx
= /'__c;;c L
NELG = g 28X
- /—,""—_’_
ls=RS
Example 4: Prove cos x = ﬁ —sinx tanx
LS RS
- COsSX = L gt
Cos’k,
:/L _ <inX SinX
COS% s X
- __(/ B SI'K\QQC
Cosk  cosA
T
— (o3 X K
cos XK
- cosX

LS=RS




Example 5: Prove tan(2x) — 2 tan(2x) sin? x = sin 2x

LS RS
= ‘tﬂ\(l'x) -d hncaa)sin‘% = S)n(.la)
)G,c‘l’ar
= {onQ!x)[, - lsinlxj
DA
Y,
2 4an (329 cos(ry)
: yax
= sin@x) | o (ax)
cos ()
= sin(3x)
JESAS
. cos(x—y) _ 1+tanxtan
Example 6: Prove Cos(ﬁi) = 1_tanxtan§
LS RS
= c2s (%) s [Haxtang
Cos (%) ) - ban oy
_ |+ Slr\'x) s/uﬂ_\
= comamqt SIMSIAY | T TR Sy
Cosk G:S':‘)" <iaX, Sl'/\j 5"‘”‘- <s‘sb> Cosxqu

= COSX CIS( + SINX STA

cosHcesY ~ sinX §mj
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In the previous lesson we have been working with identities. Identities are equations that are true for ANY

value of x. In this lesson, we will be working with equations that are not identities. We will have to solve for
the value(s) that make the equation true.

Remember that 2 solutions are possible for an angle between 0 and 2m with a given ratio. Use the reference
angle and CAST rule to determine the angles.

When solving a trigonometric equation, consider all 3 tools that can be useful:

1. Special Triangles
2. Graphs of Trig Functions
3. Calculator

Example 1: Find all solutions for cos 8 = —\/2—5 inthe interval 0 < x < 2m
J3
E Graph, cosgl—|= —=
T = D P — A 2 3 ° € -~
9] NO Yes 7
1 Put forenca W\@\f’« In To

Q/(AC\O(FC\R‘-Y 2 andl 3 Fo make,
o ratlo /\€%IH ve

73
23 A
05‘7@ 6,z T- 22
_ 5T
/‘xe’ =%
e R .
" T ° 0:T+T,
- 7,
A
™%
C
o)

=3
COSS% = COS_M% :“-?I




Example 2: Find all solutions fortan 8 = 5 in the interval 0 < x < 2m

NOTe: Tan 1S @ 1A
fa,\e :5 - G:gk —> ,ﬁ) — CAtculAToR  Qland @3
/\/—\/\W
~ |57
S t/‘)_‘ “3_,@ fan@ s 5
O, = tan-'(s)
« .37 o
Y Q;. - 1\‘+,‘37

[—éanlfﬁ = tan .51 = 5

Example 3: Find all solutions for 2sinx + 1 = 0 in the interval 0 < x < 2m

Asiax+| 9O

Jdsia = | v Grngh 5y A 5in"/g = l/9~ &
SInN 2 — / NO Yes Use as refeece 2 3
sinz "l angle in @3 +QY

/W
1
LY
S [ A
B - T+ %
iy
i O or 2 7 /6
LA WA
@2: ;l'lT’—'fT)é
= |1
™, /6




Example 4: Solve 3(tanx + 1) = 2, where 0 < x < 2w

3 (tanx+l) = & NOTE 2 tan i< O
- &+ i
Lanx t = 3 ) Gmp{'\ ) A —> CALCWLATaR A @
éﬁ'\x - &_,\ / NO I\/O
3
tany = -+

= -1
A banX = 73

-1 -1
A= Zan [’3’)
0 o 3T x)=-033175

©3%  y,=2W-0.32175
X, 2 5.96 wolions

Xy= T ~-0-32
T 3, @ Xy = 2.9 rulions

4,71

_
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Part 1: Investigation

e e | e o e

B w4 3w w2  5mB  3mé  7me b S8 5w4 118 amz  13mB 74 15me o T TR = T S W T 3,\131,3 L TR

1] HENERNGS ! e A

a) What is the period of both of the functions above? How many cycles between 0 and 27 radians?
Fory =sinx - period = 21

4
2

Fory = sin(2x) - period = Z_r

b) Looking at the graph of y = sin x , how many solutions are there for sin x = iz ~0.71°7

2 solutions
m3m 1
sm4 = sin 2 _\/f

c) Looking at the graph of y = sin(2x) , how many solutions are there for sin(2x) = iz ~0.717

sin 2 ()] = sn[2 ()] = sin 2 ()| = i 2 (5] = 75

d) When the period of a function is cut in half, what does that do to the number of solutions between 0 and
2m radians?

Doubles the number of solutions




Part 2: Solve Linear Trigonometric Equations that Involve Double Angles

Example 1: sin(260) = \/2_5 where 0 < 0 < 27

Let 16-% ) Jz
N émﬂx S A s1iN"/3 = ’Q/_
SInK < ‘E ~7 o &5 \ ’ B3
a Put eestrce angs
n Qlng IR [
Zne lS@ 1
«
I3 [ e @
® RNE
Xy ~ T["',\T/g
\ / - QT
,q’ {73 /3 Oar;)_/\}/ 2 - 2 /3
10 =X
’ \::)ze e
o -1 =
T , C +0 =N/ 0. .3
3 P e 6
| - \/é Ql:/\\(/g

W= 5n008) Vs o periad o 5 add Tk 61 od 65 o Find ather
6rals 0 £0 LT Ak LoV’ equitalent rokios

@3:@\~L/‘Y Q%:@;M‘v
AN Oy =T T
1/7_@ @q;ﬁ

6 3

E]
L

E 28] = sin(2(57] - sin(a(22) = sin 28] - Z




Example 2: cos(26) = —%where 0<0<2m

Let do=2 o . L
I UGW‘A\/) A 573773
oS =y 7w %S put reference angle 1N 2
Q2 +y Q3 whe cosine
s .
1
™
;/\T/ /g_ | z /(T - '(\\23
%] Z ;/ﬁ:
3
€T /ﬁ—/B 0 or 2 %;: (U {V/B
’\(.f
I/Z /)(_;i ﬁl\,
3
Do =X
%3 s \J.;ze =
3, Jo = 2% - 3
& ° 6, = 4
0= & CE
|
6 0, = 21
@g fﬁ S
3

Romerdoe = Har cos @é) bas, o (oerﬁoJ o ) QO/O/ T 4 6, ond 6,
bo §tnd other solutons @<

©3t@]+/ﬁ’ @4:@2*/“\#
o~ By = T
@3:%—)(/‘1‘ q 3+TTJ
), 4 Oy =55

373

cos[a(3)] = cox{2(5)) = csla( %] - cas2(F)]




Example 3: tan(260) = 1 where 0 < 6 < 2rm

a

Lt 30 =2 . N\ tany = | ° -~
{'_O»V\X Z l No \3‘@5 put refeence f«‘\n@\e— n [ <+
QAl 4 @3 whe tangl -
’\S@ |
T — T
iy
K==
e Wy / T
OC; = 1T+E
Lf
X, 2 5T
. (\/L( 0 e 24" (7(
v
1 20=A
v \)0261 5
IR ”_;E
c - g
s -

.
foneroer ¥ taq (38) lag o perfedd of 7 odd T 45 6, ol 6
Lo Sind other soludens 0 8< W

0,= 73 By = 63+ 3
_ ot Y - IT T
ErY T
e Hl?’_ﬂ:

%

b RN Ll (F) [+ ta B 4 tan 2(F)] = |

—
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A quadratic trigonometric equation may have multiple solutions in the interval 0 < x < 2m.

You can often factor a quadratic trigonometric equation and then solve the resulting two linear trigonometric
equations. In cases where the equation cannot be factored, use the quadratic formula and then solve the
resulting linear trigonometric equations.

You may need to use a Pythagorean identity, compound angle formula, or double angle formula to create a
guadratic equation that contains only a single trigonometric function whose arguments all match.

Remember that when solving a linear trigonometric equation, consider all 3 tools that can be useful:
1. Special Triangles

Graphs of Trig Functions
3. Calculator

N

Part 1: Solving Quadratic Trigonometric Equations

Example 1: Solve each of the following equations for 0 < x < 2w

a) (sinx + 1) (sinx—%) =0

(5?/\%4—[)(5{,4% - ’;)L_j 20
% 2t b Toctors equal 1o 70 and salvek

e |
Sinx+l = O Sk -= =0 A
> Grogh S b o
sz~ 7 tes! sint =7
< MY |
SI@c = 2
[4 L 53
7
P(4+.Ir\ Ql +QD~ ¥

5Ty

o 30 S
So\(,d-|or\5 AT xX = —j 5 éL sor 5_69_ ragﬁams




b) sin? x — sinx = 2

SIK - sInK = L
St —snvk - =0

Llet Sinx = X
Wy a0 FrE=D
(x-Dx+) = O
(szm~;\(6°m7c+0:©
v pN
st -3 <O SN[ =0 Grophn
. : A \es
sIn% = o Sing=-|

— ™
No sl flons @ f-/\

f{; O’\\ﬂ soluFfion 1S X <




) 2sin?x —3sinx+1=10

Lsifty — 3sta 4 | = O

Lg‘l' ’)(:S;r\K
dx®-3x+1 =0 2%3

ch«;fx-(% +H(zO
(3o - Qo)+ (~lx41)=©
ax(2-0)-1(x-1120
(x-t)2%x-1)=O

(STQ%’(>(;5W\7C/{‘)CQ

L/\\\ e
J Lsinx-| <0
sinx-1 =0 . <inZ =
Scl(\K:( (//érap e
sm‘/é:
k]:fl\)—: I/@\_ e
' _ 7 Put tn QI+Q2
A ™ W A
> )
-1
| ﬁ;vz
x3=T-%
Zy= 20
5 <




Part 2: Use Identities to Help Solve Quadratic Trigonometric Equations

Example 2: Solve each of the following equations for 0 < x < 2m

a)2sec’x—3+tanx =0

&(ﬁav&%ﬂ) ,g-vbm\% =0
Qtanl e+ =3 HLaX =0

Hald x + tznt - (=0
Le‘FX:'ém/\%

2o’ +x -1 <O ?5: ﬁ@
Qv dx-lx-1 2O
Q\zx@@t(), [(x+1) =0
(2~ 2x-11 =O
( tanx £)(Atanz -() =0

J
'tGV\?(A-{ =0 A 3 > ;ij,,\%_f @)
- L
tany = - ¢ ! = 3
. 7{ - tan_lfé-)
?uJ\'/ n @+ QY {kf_“O.(/é reolians
O S +in Q1+ Q3
A ny K PU- o
xi= N /q N o . P M2 A
G o I .9
: g \ ‘T/q ‘M3 - ané\ - 6
L{ _ 3’[4)'/
' c Ly T+0d6 % 2.9¢

3= a.¥é
> (%( 3,60]

3T T
)g:mesdt&?o/\s are X = 79 3 T,z" 30,96 y0R 3.60 RANANS




b) 3sinx + 3 cos(2x) = 2

259+ Beos(Ix) = A
2sing +3(|-2sin*x) = A
255+ 3-65in"x -2 =O

—b<inn xR+ =

(ﬁ*%:s?n%
0176 T FACORARLE
6?3+ =0 53 Muﬂa a.f.
x(-6)
x =379 0?37
’lTl
Vi
X = -023 X 2073
CALC CALC
siny, = - O. 313 <imx=0.73
% = sin (“O«3L3) - sin (O:’B\)
X, - J’T 0.3
lﬂc = 6.05)
| Y v a9 &
s 1> A
2% Ooc 3T
i 023 - Oar 3T
3:57L \\)6 o
@ 31, ¢
3y

Ay = T -0.92
Xy = T+ 0,23 Y

T, soiutionsare X= 0.9, 232, 3.3 [, 08 6.05 RADANS
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Part 1: Application Questions

Example 1: Today, the high tide in Matthews Cove, New Brunswick, is at midnight. The water level at high tide
is 7.5 m. The depth, d meters, of the water in the cove at time t hours is modelled by the equation

d(t) = 3.5cos (% t) +4

Jenny is planning a day trip to the cove tomorrow, but the water needs to be at least 2 m deep for her to
maneuver her sailboat safely. Determine the best time when it will be safe for her to sail into Matthews Cove?
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Example 2: A city’s daily temperature, in degrees Celsius, can be modelled by the function
t(d) = —28 cos (2= d) + 10

where d is the day of the year and 1 = January 1. On days where the temperature is approximately 32°C or
above, the air conditioners at city hall are turned on. During what days of the year are the air conditioners
running at city hall?
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Example 3: A Ferris wheel with a 20 meter diameter turns once every minute. Riders must climb up 1 meter to
get on the ride.

a) Write a cosine equation to model the height of the rider, h meters, t seconds after the ride has begun.
Assume they start at the min height.
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b) What will be the first 2 times that the rider is at a height of 5 meters?
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